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Time : 3 Hours

Instructions:

(i) Each question carries one mark.

$>3 gXrd;5c a,5 i.rdr6 5o6:.
(ii) Choose the correct or most appropriate answer from the given options to the following questions

and darken, with blue/black bafl point pen the corresponding digit r,2, 3 or 4 in the circle
pertaining to the question number conbemed in the oMR Answer Sheet, separately supplied to
you.

6r$$ a03S $rO t!:{;5c a5ga:&S 6r.eid 30615 i:$,-q.S$o5c JScISC o.CC
5c.,)od esoB 1,2, 1dg 4 ddcm a')r15 oMR bS;-q.S r:ps.::d [:{;dcboaoQoSS 5oq:gt{e.: roe355c gr/Hng ar. d }o::oe5 -oS:y AX:eraoS Cob$ES:.

BOTANY

1. Identify the correct pair of combinations

(I) Zeatn - Adenine derivative - Overcoming apical dominance

(ID CzH+ - Indole compound - Effective in fruit ripening

(III) ABA - Carotenoid derivative - Induction of parthenocarpy

(IV) GA, - Terpene - Bolting in cabbage

566cS d.:dao""p tfo ad5.: tlcOorJo&.

(D dc$;.e35 - cp&55 6d3$1$o - egn"edge55c d{6-6o.o::

(lI) C2H4 - ao64d dr.BSSJr _ 6er"q i>Oi>d565c Sir.do
(III)ABA* Ed6o"or6 a"y;S;S':: _ esCdS "q:o5 fodea
(IV)GA3 

- o6;5 - s"ded a$go6

(r) (r, rn) (2) (rLIV) r{ a.wt (4) (rrr, IV)

Marks : 160

Rough Work
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A
List-II

Study the following lists

List-I
(A) Munch

(B) Darwin

(C) Cousins

(D) Levitt

0)
(ID

0r)
(IV)

(v)
6.l lBoO e-Ds"o$o es{5c$:So

a;'DeE"-I

(A) 5::oS (I)

(B) o"035 0I)
(c) sdSJ Grr)
(D) EDeS GV)

(v)
The correct match is

ab bo6:5 d6oxp
(A) (B) (c)

(1) (m) ry) G)

(2) (rv) (v) (D

t3) (\ ) UrI) (rr)

(4) (rr) (r) (IV)

Stomatal movement

Hastened fruit ripening by volatiles

Growth of coleoptiles towards light

Nature of enzyme action

Bidirectional transport in phloem

JcD)o6

ar'Oo"-Il

X>16 dopo.o .'5o5o

a-ir;&o iro.o-s$ s 6o"o b55.5dnd$o$do

@o$:d 5ot5:55:: s.o0 6dn" -odtl6o
JSEfu r5o"5 65+-5o
dr{& 5 Seaa-sod a3a{ d o.ea"

(D)

OD

(ID

(r)

(v)

3. What is the type of nutrition in purple and green sulphur bacteria ?

(1) Photoautotrophic

(3) Photoheterotrophic

(1) ro& 55o5co dt{"odo

(3) s-o & -o d dr""r 6 o

(9) Chemoautotropic

(4) Chemoheterotrophic

(2) dlc$c5 X>5c$co dr6'a d o

(4) di"c$cS irddt{""relo

"o dc;el $o0 cS:: e5cX:l5; X:o;6 ar"€ O c$rS,:e. d 'a eo dSo 5a f

Rough Work
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4. Study the following lists

List-I

Viroid infecting tomato Plant

TMV

Polio virus

Lentiviny;---/

€r poa e'Do"o5o erd5o5:5o Jo$oa
?r.as"-I

(A) ir$-cS a>53"So bol5aood tso'o>E

(B) rMv
(C) dr6OEJ- pd5

@) 6oel 6dS

The correct match is

a6 X>06c$ deoXP

(A) (B) (c)

{r) (D (l) (IV)

(2) oID (I) (IV)

(3) (ID 0v) (v)

(4) (I) (v) (u)

List-II

(I) 6,500 nucleotides

(II) 300-400 nucleotides

(IV) Many sided

(V) Prion

a*A@'-ll
(D 6500 S:.5$arP6oe:>

(II) 300-400 Sr5$d:.-6t6:er>

(III) Eodo $fu"i:56 ale RNA ereo$e>

(IV) arirt$>Po
(V) foosl.S

(A)

(B)

(c)
(D)

\D Two identical molecules of RNA

(D)

0ry
(ID

0)

OD

A cross between pure breeding plant with red dots on leaves and pure breeding white dotted

plant produces h"terozygote.liat have both red and white dots On self pollination of F"

what fraction of plants show both rql- and white dots on the leaves ?

'o1o"o 5.:d Jdo'q;d.ol{c $c..l;ocS; dc{ a::56!; Ee':cigdorlo sc'53oc5; {cd

B.,:sr S SoSdeoo dcilcn' "lLxp 
*stol:"' 

EocQ; $o$;oc 3od;- 65; D{r$c
'u
cs,::rl3r.e.l: 6e530 tscsczcgno",. i, 'f 551-1 ''r:5d&; d"o5f36c {:g"o 5cd

":Ac'41 fcoc*, 
"e.rr'O $ri;o. eod:" a5; B::53'e; E l(o (fraction; Jo'!z

(1) 1t2 Q) tl4 Q) 2t3 (4) 3t4(P r/2

Rough Work
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A
produced for a pair of characters in a monohybrid test

SOn$o6$ 5g Sogdod i>6g. .ooddeoo So JCy dJ{gdJ"{>

(2) 4 (3) 1 (4) 3

How many phenotypic classes are

cross ?

a,5 ad o$er.oc
ds-el S i-o.>: ?

(D2

t
a

I

7. Study the following lists
List-I l

(A) Operon
(B) Operator
(C) Promoter
(D) Repressor

& lBoA as.Ds'o$o e{gcno5o
a*Ee.-I

(A) a"-oo"5
(B) esbdoE
(c) pBr.o6
(D) Eg-o&6

5oq:gS.: 5$cffSc$.r:.
(1) 8

DNA Bodo dr-ioc l5Ns dar:el dcscar&$ J.yJdBrour" s4Es,
SrOg $u"6c uJo.o $d$ A5d,:e3S;eJ(>d*.&. $$.dS 6d;df

List-II
(I) Binding of repressor proteins
(ID Binding of RNA polymerase
(III) Inactivated by inducer
(IV) Binding to polynucleotide phosphorylase
(V) Polycistronic structural gene regulation

!J cD)o (o

a.As.-II
(D E1-":$6 6fe55 a:oedsogr:
(ID RNA Joiod€ aroe6soge:
(lII) fodSod D6gd5o dcroer6:6oa
(IV) $05J.Egdl.65 ft);odf$: aoe6$ogc.:
(V) &Ob&7CS Co"3ea a3:5O Dc$:og6ea

The correct match is
aB 5BGc5 dao4;

(A) (B) (c)
(1) (rv) 0D (r)
(2) (rrD ry) GV)
(3) (rD GV) (rrD

) (v) (r) (rD

8. Escherichia coii, in which both the strands of DNA are labelled with l5N is transl-erred tol4N medium and allowed to replicate for three generations. Find out the number of hybrid
DNA.$slecrrlec in rhe third generarion. --

(3) 12

laN at., cE,r.S SodB
"oo5d DNA ereocdc:

(4) 10

Rough Work ,a- \\ \ \ \
' r\d&

(D)

OD
(D

(v)
(rrr)

\t -f
(-
M 

--\9,,e -u
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9. A DNA segment has AGA GCA ATA CCA ACA ACC nucleotides in a sequence' The

segment of polypeptide chain synthesized from this DNA through mRNA has the following

aminoacid sequence

a,5 DNA po66od APAGCA ATACCA Apx A€e erd sJ-g$-{g!o. slrlsfoet'
6r.)0o. & DNA Jco& mRNA o"3o'' Sod'"ro.Jo&$- $O-o=odc fferX>;eff
epEc$ es 5r-o $dcbp5$co & S{on' 6-')0$
(1) Arg - Tyr - Ser - Cys - Trp-- Gll
(/) Ser - Arg - Tyr - Gly/- CYt'- TrP

(3) Cys - Trp - Ser - Gll- Arg - Arg
(4) Ty;,* Cys - Trp - Ser - Gfy - Arg

10. Study the following lists

List-I
(A) . Cellulase

(B) Chitinase

(C) Lysozyme

(D) Protease

& $oA ar"Do"o5o es{gc$So dc$oa
ar.Ee.-I

(A) -oo5d€
(B) prr3€
(c) 9.r6E5;
(D) ldr8d:5

The correct match is

aB 506cS dao:p
(A) (B) (c)

<tf<td 6 (r)

(2) (Ly-- (D (rv)
(3) (v) (D GII)

(4) (v) (IV) (I)

List-II
(I) Cell wall of bacteria

(II) Cell wall of plant cells

(III) Proteins

(IV) Cell wall of fungal cells

(v) RNA

at D@-II
(D o.$ool:.o 5ea55'5o

(II) 451 {ea"o 5e055.5o

(III) 1dre35o:
(IV) 80o16 Seo"o Seo5S'Jo

(v) RNA

(D)

(m)
(u)
(ID

(r)

Rough Work
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Tobacco plants resistant to Meloidegtne incognitia were developed using a method of
cellular defence which relates to
(l) Silencing the translation of specific mRNA 

,(2) Silencing the transcription of specific mR).lA
(3) Activation of specific tRNA
(4) Activation of specific mRNA
EieJfoJ)&ns aSs-41""ro5;.Sc C66dSd $OAS Sn $c EoS3-oSc
666;.RoS$ Sead$eo "odO 6Cg 5oa:oQoSo6
(1) DAA mRNe OoS6 ep5:o.55.r5c :oEC3o6 tsilencing)
(2) DaA mRNA 6.r>56 esicdq:S50:Sc ioECSoF (Silencing)

(3) PA"B IRNASc adecbd#cir
(4) CAA mRNA$c 6debdr$d:

e) oDJ' OJ r.J oOJ el- "l 5

S c$oe;

rf, ODJJ C)

12. Study the following lists
List-I

(A) Vector
(B) Downstream processing
(C) Cry II Ab
(D) Transposons

6; 13oA e-Do.s5o e.r{gc$o5o
s.as.-I

(A) a"i:-So
(B) e*$g5o"lr. 1f:$c6:
(C) Cry IIAb
(D) ger53dr6)$o

'Ihe correct match is

List-II
(D Resistant to cotton bollworm
(ll) Mobile genetic elements
(III) Controls corn borer
(IV) Ti plasmid
(V) Purifying protein in biopharmaceuticals

ar'.46.-II
(l) X>3 a'5;r63$ L{)oc646sd
(lI) r5s5 e$ogJOE:ocr:
(lll) (>Qs"c$: AOts Q)6ri: ScEoogdca
(IV) Ti fl"o26:
(V) dS aA'pod 1dre555o {)ax)di$ir

dc$oa

(D)

(m)
(ID

(v)

OD

N
(2)

(3)

50o3r5 #6oxp
(A) 

-(B) , Ic)
rrd wt/ tnt
(rrr) $t GV)
(rv) (rD G)

(4) (rv) (v)

Rough Work
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Identify the correct pair of characters of a babterium which is useful in produciion of

methane

(I) Recyclers of inorganic nutrientd'

(ll) Presenr in stomach of caftle

(III) Obtain energy from sunlight

(lV) Aerobes

5c$5 a63q dc$cu"C3 dird;'6od ar'€oc$c5c 6.::{6 "o06:5 o$ee-o adSc

r(:0oJo6
(l) er'oogOcSc dr6{rs's Q;5 t.518 c$c-oc

(II) 5{c$o d{$doe$ 6oc.:.oc:

(IIf f>.:-dgdA3 $co& dBC Joo6:s"o,::
(IV) o.c$l:r( 6 d{;er>
(r) (u,IID ,6'rr,w (3) (I, IV)\

-<-
(4) (rrl IV)

14. Which one of the following variety is resistant to white rust disease

(l) Pusa Sem 2 {
(3) Pusa Sawani

' EoC3 5.: o Sc$o E6ooc o'5QB
(1) X?)"i' -o5c 2

(3) "qy) i:o"S

(2) Pusa Komd{
(/t Pusa Swarnim//'

f")ocddsg .5J"ro d5o
(2) 8i& $$':5
(a) Q1& 55So

b 1e- d s-o a. oo

$t tr,rYt

15. Identify the correct pair of combinations

(I) Vallisneria - Long stalked female flowers - Hydrophily

(lI) Tribulus - Annual - Root succulent

(III) Hydrillo - Submerged rooted hydrophl'tes - Aerenchyma

(lY) Casurina - Perennial - Phylloclades

i:06cS dc#Co""p 4.5 S: dcOo15o6

(I) o"O5docS;" - dpdE5 $;oe'wr(o ugl {:}l* - aq"oo"6 X>o"od6o

[! i-eSargoS - 5g;r'o5o - dbCoeJp:S dds;
(Ir!]11eg - Scad r})Sn 60A oAysdeao Eo6$ B>56oc - a.cso Qr06

$c35c Seae-oo
(lV) ra'ps' - a{v'oo'0 do -(1) (III, (4) (r, u)

Rough Work
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A
statements16. Find out the correct pair of

(I) In completely plasmolysed cell, pressure potential does not contribute to \yater potential.

(II) If a cell is placed in hypotonic solution for longer time, the cell membrane shrinks

away from its cell wall.
(lII) Apoplastic system comprises of interconnected protoplasts.

(IV) Polypeptidggiave more imbibing capacity than polysaccharides.

"oOEJS -.SpEo aeY5c r{cOo'5o6

(I) {grorr 5ea1d$g i>o$.!o Eo65 5ea.ee, $CXS3 Der:$ef 5aSXS3 +p:
5pc ao66o

(II) a,5 See-D; ero;n"d 1o'Seood 6gis-oo 6o0d geold 5ea5$'Jo S':o&

5co0or$SC dde5co 6

(lID 1iJ6S*"8e, cpodo'o SgS! en*of'g SgS"6e$ 6oc$oa
(IVr $Oa.a:B5o 5od +O-o-o5e C+5d$ JYc65

W r,r{ (2) (r,r) (3) (r,)x)r (4) r&

Identify the physiological functions of two microelements, of them, the former is required

for the-5y:uthesis and the latter for oxidat:on gUAA respectively.

(D Constituent of chlorophyll molecule

(II) Maintenance of cell turgidity
(III) Splitting of water in photosynthesis

{ff)Co-factor for carboxypeptidase
(V) Component of methionid
$dc(:o. E$5i36 IAA f)oi&eogr, zo66o IAA eBJ5dea5c ep$(>d$cd;5 Eo6c
5:.$3 dflos'o {66 {dg-c{co$c rJcoo.JoB
(l) 5pYy"Od eca:$eS a.d 4-r(o
(ll) 5e6-e 5;6o5: Cdo.::or5.:5: (Maintenance)
(lll) Sdeaa$g 5o6;-d13o5cet' 5e3 Ad)dS
(lV) s-o.;33-obd53 53"s"dgo
(V) A:QB)-CS es5c".pcCc5o

The correct answer is

a& i:06:5 65;"q-.5o
(1) (rr, v)

Rough Work

(3) (v, D
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18. Identifu the correct pair of zrnswers indicating the reactions catalysed by "Isomerases" class
of enzymes.
(I) Conversion of glyceraldehyde-3-phosphate to di9yAt66 acetone phosphate in Calvin

cycle. I
(II) Formation of malic acid from fumaric acid in Tricarboxylic acid cycle.
(III) Carboxylation of phosphoenol pyruvate in Hatch-Slack pathway.
(IV) Fructose-6-phosphate formation from Glucose-6-phosphare in EMP pathway.
"oirscdtf ' DE-t 6l JSESce:> 6d376oi:dro '5dgo a65c (::"Ood $S,:.q.o.Cy
d.>0o"5o&.nJooao(3.
tl] logs s^"*_ot flso-p115-3-*jo;er, EJrLo"-S; r"D!6s +tlg* 5rd6o
irrl p1$o-1s3o5 sdcsco&r fu5s:oS 

torJl-._s"La'sros oi;o *bd;a.o
(III) x)-.'5-i-5 X>{od }3t;6+o"6 }dcdel s.o";83dh5 adiJdo(lrl) i)-5-J.S b6od ft3t36so"6 pdcdel s.o.383dhS adiJdo
(lv) EMP 6{oef F"S5-6:+api5 5co6 lrSEo-+tpdl Sd;diro
The correct pair is
aa 5Eb3rS dA
(1) (Ir, IV) A y,ruy (3)/^1, \t)

.,

orr"rof
qtl

(4)

19. The number of ATP molecules formed from 8 moiecules of HrO due to noncyclic electron
transport and subsequent photophosphorylation is 3 -\
[Assume that quinone cycle facilitates the transfer 4H+ to the lumen of thylakofr membrane
for every two electrons passing through electron transpoit system and one AIP is formed
for every 3H+ moving down the proton gradient by thi mediation of Fo - F, ATPasel
8 ercacgo HrO $co6 es'5i-ScUc Jes-95 do.eo., 6d5ou5d s.oO $VSOdaS

,'r1';; :p: fiL:X3!i*?.r* ros-1so*c Bssas socsco lr- ".,Aer6o:rA .l-q.5Xp -e,u-ga:SdS ?ja0 dScodC" i:0cS:: ier,erS. r'oScaeJ ad:$
a{n- Fo - Fl*Al P d:d o"go" i-!>c$:-e3od-q5& 3H' erSr iS ATp l)d36c6:od0
q-Do,5o&l //" _L(l)8 &4 

\-' (3)16 (4)t2

20. The corect sequence of the involvement ofthe following components in non-cyclic electron
lransporl

c0"518 c$c Jos-75 do.ec.d J"€i'd & 13o6 es5c-.2c6s.s (>06c$ g5$c$c:
(D PC (ID PQ (III) Pheo (IDrd
The correct sequence is
50615 5 dcb r5$:o

7
(ry (r. r, m, Iv) (2) (rr, r, ry D (3) (rv r, r,.rrD (4) (rrr, il, r, iv)

Rough Work
tA...

u
0
{
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21. which of the two staremenl .r"*.Aspiratory pathway is an .amphiboric pathway, ?(D Fats breakdown to glyceror^andiatty acids, subsequently yields acetyr co-enzyme .A,.
(II) In respiration, c-c 

.bonds 
of comprex 

"oo,ptrnd. 
breakdown through oxidation leadinglo release of energy.

,t", 
Ai.;r;"t tnzyme 

'A' from the respiratory pathway is withdrawn f,or the synthesis of
(IV) Proteins are degraded by protease to amino acids and enter the respiratory pathway.

ilS}:"t 
B06r d.Spser 5.:"6 a-5(>13c$c a.S "6dcsc dspcsc x:{o; eSa,D;

Qi

(D T6S_*, 0!o.O Sc.cS.:: S.{5 es$-:-ocn D..)JSyo Eo6 e5dSoe5do er"o=.6$-.:sesc 'A' n" bdJds";
(II) 2.5"o$cU.:d bof $ X>o"g"oo! C_C ?Joe.or eg;Sdeao o_5o. Dnpsl:o

dSC S6cde Slo;:
0II) J'o{Ert S:ag:. 

_'A'. 
oc a-5.o13c$;" b{o Scol) zccScccX:6 S.g5 e:b-:.e:

bo d a cd.JS 5.".rd6ds.o:>
(V) @oeS5cer, ldre3dcf o'go, erEc.$ egbes:n. C',)gSyp, a-5(>$c$,r. i:godB

1i>dtloo.(r) (I,II) (2) (r, IV) (3) (rr, m f) Or,tn1
A taxon belonging to order sapindales has a single seeded fleshy fruit with edible mesocarpand stony endocarp. The number of carpels in*the flower of this taxon is
Sodr{e) booet' BoSer.ocJ ero6:i>e.:SS,=.C1 Sr0cU:: Od $r{g 6o{bJo56 a,BD4a",cy 506 6od "* T-f.S ,:""oodoS*1ss.eS i.a-L="oerr:i. 

-J i*;S
]:c51 furr;oet'c Fedqr."''bopS 6 i6o.n- aoocoa
$;3 @f " @ 1 @z

23. Identify the correct paii of combination
(l) Aspergillus 

- Meiosis occurs in asci _ produces citric acid(ll) Albugo - Coenocytic hyphae - 
parasite on mustasd/

(III) Penicillium 
- Basidiospores _ Multicellular

(lY) Colletotrichum 
- Conidia _ Smut disease

5Od)S dcSDoipo e6Sc rJc0oJo&
(I) 

::ig*= - e:565odf {cso$dea idaS adcrfcdco6 _ "og3S erb-:o
E 

"eJE

1l]1. _":.pf - "oS-*cS u5o6c{oc _ er$ E.::S6:o {:o.$ydD
(lII) =oC"o0c$co 

- 65&6.r.M3dcoc _ a:ir.e5€acS$6 o

AM 2015 D l0s

0. G{
1tV) rEet'-s7pS: -(l) (f), (r) S'5 6 c$c5csc 

-(2) (rrr), (IV)
s-Cr.:5 Edcoc

(3) (r), (rv)
Rough Work



24. Study the following lists
List-I

(A) Genetic nature of RNA
(B) Binomial Nomenclature
(C) Tripler Codon
(D) Ecology

List-II
(I) George Gamow
(II) Hugo de Vries
(III) Frankel Conrat
(IV) Warming
(V) Gaspard Bauhin

i)oDJO6

ar"0e._II
(I) a-6 n-d:-S
@) r-5aa & @5
(III) 1}o3ei $So"cS
(IV) a"03o6
(V) n"X:36 o.""*S

6x

(A)

(B)

(c)
(D)

gS od r.0e.oSc er{5 cU,:S o
a-Do.-I
ec6.J5.J. e[o56e5go
a5 o"$o o.5:Sdeao

1&5 i>ot.5o
e:$ 6ea a"5 1o

The correct match is
ad 508:5 #6oxp

(A) (B) (c) (D)
(l) (rv) (D (r) (v)
(2) (irr) (v) (rv) (D
(3) (rv) (v) w- (rr)

JAYlltr) (v) Ltr yr
G taentify the correcr pair of combination 

,;
(l) Chara 

- Monoecious

er) satvini a- Ho-o,po.* 13:::?:f6;ydrophyte
(III) Ectocarpus 

- Filamentous form _ Chlorophyll a,_d.-
(IV I Laminaria 

- Biflagellare gameres _ ffapf o-Opio-ntic life cycle3OG)S dc.JAoq;e.: a6Sc r(cOo..Jo6.
(D se - 65Oon-$o _ {:ge5$"06o a,b
(II) )05$c6:. - srotud5alb _ SeSE, ro5.5pn" dd a::S;
rUI) J$s"dJS - uoi')L,rJ _ br66"*o6o'a.:

Hf ;,-flff-' - 
assa.a)ctuu soo:.r.{ be-s: - 5s_agcslos dD6 rsso

#rv) @ trr,tfr; - (4) (tlr).(iv)
Rough Work
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26. tdentify the correcl combination /
yd N..rn - Absence ot buds in the axil of leaflets - e(nately compound leaf

(2) Sunflower - Opposite phyllotaxy - lnferior ovary

(3) Carot - Flowen brought to mme height due to varied Iargtls of pedicels - krvolucre of bracts

(4) Pistia - Discoid stem - Lateral branch with many internodes

5OA)$ dc#DoXp$c r{c0 o15o6.

(l) dt) - i:16s.o 1Aa.e.,d a>ffo: d"oo'5do - ";a-3s'6 5oc6::5 {>g.5o

(2) i:rd5s"o6o - erQ5rp bld0;rg5o - CSo) eso@'{c$o

(3) s-6ei - Q;{r;$;oo"o ddg6c S6Of 6o& Q1}3o5y a,€ .:4d 6o6bo -
X:0r515$r:"154

(4) "d"Sol:- - 
,'511rd s-o6o - erd$ Sea:Q; 5o{g$:'o$o SOnS }d;ga'q>

27. Three plants (A, B, C) are observed. '.{ has suckers. The edible parts in it are the inflorescence

axis and juicy succulent bracts. 'B'belongs to family Moraceae. The edible part is succulent

perianth. In 'C' polyadelphous androecium is present and the edible part is juicy succulent

placental hairs of endocarp. Identifi the types of fruits in A, B and C respectively.

rl\ , @ Sororir, compound fruit' hesperidium

(2) Compsund frujl. sy,cplus. berry

,t}l False fruit, aggregate of berries, hEsperidium.

(4) Aggtegate fruil ber.fr pepo

5o-d6c Bo53.o$; (A, B, C) X)OAOorSdo a0flo6. 'A 'oo5 EoS6o$,: 5OR

6ocro6. 60ef fpXr; Ca'g(>o er{o $c0c6o dXrc$.r:c5, dX)d06 i11"a3Q1u'po.>

3d 4-r{on 60gr-0o. 'B' a.r.d "o Soi::oa:-CB io6c6co8. 6Cd ed 4-r(o
d$d0.J bOirle-oc. 'C'd ec'o"o ao{5 €"jo.$Q 6o6:o6. &d ap-r{o ero6a

{2e.:5$.5ocfC dbc$$e5, dx)doeJ eoo6o-gb ta'or. A, B 5c0c$,:: C B::S;oet'C
""p o-o ds-oSc $d:bn'l{.r0orJo6.
( I ) J664'r5, 5o6.i"l{{: ero, =o-'o366 c$:Sc

(2) Xro6:"r1Ypoo, -o$55, 5,:;5;{>oo
(3) e$;e5$ oo, s,:;6:$ o-oS $"&5 K>o dOdip oo, -"r""o36 & c$;Sc

(4) 5o50"5"q>oo, 5c;5c{:oo, -odF

Rough Work
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28. Identi& the plant which is not having unilocular ovary

@) cucumber (2) Cashe#- (3) China rose

55Oo epoo"{o5;'Cy gOR 6o6C Eo53.$: rJcoo'Jo8.

(4) Chilli

(4) crdb(1) $5:oa:6 (2) d65ntuA (3) tuoo"6

29, Identify the wrong statement

(11 Plants produced vegetatively or asex"ally are cd.ldclones.

(2) Organisms exhibiting extemal fertilization release a larggnuffiber of gametes.

-/il'Development 
of embvo fromQlilized female eu*"t) i, calledQartheno c*9

(4) Conidia are formed in Alternaria. '/

"o0 s"P d"EpESc lJc0 or.Jo6

(1) erEoRS 6{0 do" d"gcSJ6do6' 5O3d a::S6er$c SSoc epod:'dc

(2) a:-fr"ggo65dea .5.:'ro dgw X>o6.:.dSa-o$c J5:65 Sopgef Dt5.rde dlo:r
(3) 6e65dea Eo65 5o I i>o6o.i{ 5ao 5;oS "oo6o 5d36er0; erCro5aS5o

er o grdc

(a) ergdyocs;.S f5Acfc5:o 5d;6o"oc:

D:-r-. . @
QO.l 

rt. character associated with the plant in which pollination is by Tageticula

(1) Marginal placentationD( @ Pentamerous flowers

@) T.ilo"ulu, ouury (4) Perigynous flowerg\

cr-€irgJEs- $g {>o.r1"ooX>d6o aOd B::563c boaroQoS$ oSeao

(1) elo6 eoo6o'5(>o (2) "oo# qlr{ctu:6 Q)}Je,

<31 1&Ooc$re! cpoo.{oSro (4) f)d6o6$d "O*)e;)

JRough Work
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31. In plant 'A the seeds will not germinate until they have been exposed to low temperatures

in moist conditions in the presence of oxygen' 'B' plant flower has basal placentation and

head inflorescence. In 'C' plant, flower has cup shaped thalamus arid the reproductive

organs in it are enclosed by two petals present on the anterior side of the flower. Identify

the following characters found in A, B and C respectively

(D Slightly curved embryo sac

(11) Micropyle, chalaza and funiculus are on the same vertical line

(III) 180" curvature of the body of the ovule'

'A &)gA.dD Ddo'o: eB;eS 5$:$od dS:ayou: f:0"6'5coeS 65:3'$ *ff11!'5odc

a:"o-d6S,:dcg SdUc ego5.:oo.Jd$. 'B' ao56 ;94;oef 6o6 ero6o'5$c1 scoc$'::

&gSE ;pagac"5&C1 50n 6oc.r:o6. 'C' ard3- X21-a3od REl$oe3 Q;ir3Dc"5"oo

6oe;:oa Scoc$o 'q#;CB ipo'5o6od aod Bo6c e5{eo 61o'oc 1X:dc563e

epon-e5c 5?:3 6o,5cero'r:' A, B 5:0c$o Cd S0"ood 6'a 13oa o$ea'oS:

$dctn'dcEo,5o&

(D "oo6fdo S'Qn" $oi21 &66 6ocr:ob

(II) ero6o"gdo, ,5er-d-, ero553o6o e"t

(III) 180" S"eaoef $oXp @onS epo6d""r"o

(1) (1D, GII),(I) (2) (I),0D,0D

Co$ t q:l> er$ro 60e:-o:)

ff twrl, <tt, 1n1 (4) (l), oI), (lil)

,;

arrangement of ovules on,placenta of the flower of that plant ?

q$ a*ir. Q vu,einut (3) Basd 
.@. 

tl'"u' 
.

iu ars6 dr>53, 'q&;oet' 6o6v.o 'ooq:5 d{>o Soc6coefc i:o61.e'o dEc3e>

5oq:55c i>5c-5o $c0 cU'r: DeiSod &adsroc, {>er5v'o 5oq:5d 1i3 6a.lor:' er

acc56 "qA;oet'

(1) eo$c6:o

ceo@.g)r ero6o.g6J'5oet' b es$coUef 6ocl-o1)?

(2) 6#o"5o (3) 56

In a flower of a plant, the number of carpels is equal to the number of inner whorl of

perianth lobes and coryledons in the seed of that planr is l)/of carpel number' What is the

AM 2015 D
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33.Identifytheseriesinascendingorderwithlespecttothenumberofcohortspresentinthem'
( I ) lrferae. calvcifl orae,. bicarpellatae' thalamifl olrae

,-$'frercromer&? discifldhe. calfbjllorae'\halami-Qorae
- ili Cufvtiflorae, thalamiflorae, bicarpellatae' inferae

i+i g.*.o*".ae, bicarpellatae, inferae' calyciflorae

6od X) $rr.Xrs o X:ory'5X:don' & ldeoco$c t:O^N:'g 1S$coef dcO o'JoB

(1) as=q:d, s"o'offt, Przl{d' {o-tofft
(2) -.v"E64Dot, ah6ffd, s"o'off€, {c,"eoffd

(3) s'o?offd, So'D:ffd, as"oJed' a5l>d

(a) =.:-66a4:d, ^as'oJSd, aS-dt, s'O"offd

34. Study the following lists
List-I

(A) Golgi apParatus

(B) Mitochondriqn
(C) ChromatoPhores
(D) Cltoskeleton 

._

6a $ob a'Oo"o5o er$5oYo5o ic6:oa

a;"0o'-I

(A) n"p x:0$6o

(B) Pds"os6cro5
(C) L$sr"tS#6c))
(D) 5ea aPhboed$>

List-II
(I) Circular DNA molecule

(II) Synthesis of carbohYdrates

(III) Modification of Proteins
(lV) Pigments
(V) Proteinaceous structures

ar.Ae. II
(t) 53o"s'd DNA esco$

(II) s"o61l11db 5o-{irea

(IID tdrds .Jrlo6do
(IV) S{154"5er:

ry) [dFe35o1>d co'3ea'o:

The correct match is

aB "o06c5 #ao""P
(A) (B) (c)

(1) 0I)''' (w) (vL
z*Yfi\ Gr w)

(3) (v) 0l) (lv)
(4) (IID ry) 0v)

(D)
(r)

err
(III)
(r)

Rough Work
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35. Identifo the correct pair of statements
(l\ The alrernate name of thymine is 5-methyldracil.
({U-Arachidonic acid molecule contains less number of carbons than palmitic acid.

\tltl C.ltulo." conrains complex helices.

hV; Aquaporin is a polypeptide.

606JS -.E+Ee adsc dc0oJo6
(l) dc$$S$ Eo6'5sod: s-CrEeS ctuo.he5
(II) c+o.p66.15 e*So erea:$ +fuei5 agSoo Sod 6$65 Sd;o"o5o gOR 6ob)o6
(III) -oelgef 5 5oS Xr i>O;o-o$o SOfl 6oi;:o6
(IV) ess"gdr605 e.S SO-oaE
(l) (il.IIt) (2) (r. rD (3) 0r, rv) { u,u,

36. Study the following lists

List-I
(A) Anaphase.\ (D

List-II
Splitting of the centromere

ar.Do"-II
(D =oo1$uc6)6 CdaSo Eod6o
(11.1 os.oD35
(I[) =.roLefA]c$r6o Sd lpdd pSS:.CEo JO"o 6o$-o>
(lV) tSB:.#tu.r, Xo63f, 6crog Sd ep$o0 6o$-o::
(V) Bo g6s.o{5r ero6o.Sio$ebo6

-kr
(2)

(3)

(4)

(D)

(4
(IV)
(IV)
(D

18) Anaphase{ \Il; Recombinase
(C; Pachytene,.v\\U; Sirt", chromatids associated at their centromere
(D) Diakinesis \lV; Chromosomes aligned on the equatorial plate

(V) Nucleolus disappears
6-a $oA s.Os.s$o er{5c6:$o dc$co&

d'As.,I
(A) noSd{-I
(B) t5e.:Sd{-II
(c) &Sc3s
(D) 6c$r.3E"o'o

The correct match is
a6 506cS #8o;2;

(A) (B) (c)
(rr) QY 0D
(IID ry) GI)

0D Grr) (v)
(r) (rD GV)

Rough Work
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37. How many chromosomes are present in each of the following with respect to maize plant

respectively ? 
^(a) leaf epidermal cell au

(c) endosperm cell 7a
(e) egg cell 10
(g) Microspore mother cell 'yO
a>d6d'5; B>gtr$ i:oa:oQor), $dcbcf, 61 6Iu$Cn35 o'Cd JCl L$EJ'f$)e)
6 o cJ-oD ?

{a) i>i-da:-f.gr5d3 5ea$.r: <bl 1i:&}5 5o$::

(c) crogrdriJd 5eo5o (d) 6o'Jdg geo$c)

tel 5g7 ia 5eo5o {f) -6:'o 'o{ 5a$o

(C) tu'ge 'od 0a $'d;5 Seao

(1) 10, 20, 10, 10, 10,20, 30

(3) 20, 10, 10, 10, 20, 30, 10

IA
antipodal cell '"
generative cell \0

-"gu.po." @

-g'ro,10, 
30, 10, 10, 10' 29

(4) 30, 10,20, 10, 20, 10, 10

(b)

(d)

(0

38. Which of the characters are fouud-in cells producing @"*r*"try
lTt Rich in protoplasm, Qnspicuous nucler).

(ll) Thick cell wall, few plasmodesmatal ionnectior€\

{II) Thin cell wall, many plasmodesmatal connections'

(lV) Lignin in. cell wall, inconspicuous nucl\

1}{!od Seoa's-o5c aeYSQ dro {ec'od 5 er$ee'oc {C"o}or:t

(D d$$o"do esQ5o, (rK:3"3$:5 €o155o

(II) $co6Ecb 5ea5$15o, 65ca.S 9ea15$5oo{ aro{o'oc

(III) X:ec.JC 5ea5$.Jo, Sea15S5a:o{. oo{o'oc erQSo

(V)On15d 5.:'65 Sea55Jo, er53&EoS €olddo'

Rough Work
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39. Identify the correct pair of statements from the following,
(l) Primary phloem is commercially important in flax. A
(ll) The food materials in water conducting tissue are stored(lll) lhe water movement in vrssels is bidirecrionalf
!jV)-,lr4ature cells where hydrostatic pressure increasls during

presence of peripheral cytoplasm and absence of nucleus.

in thin walled cells.

(D flSfet' @{a:5 idird Seaa.oo u.eBegbdon
(ll) 5c3C 5d"o>o. d cUs 5eaa"ood, deosco"go,:

A6?o!e)DJ Je)S rJJ"oD
(lll) 5iJ ,Jo5o o.d:o.trod 6g6r"i{$oSo
(V) {:oX>55 deo-sd J"Sa EP r5E6d do.ea" ad:r{:e5c$;.oydc aosodS S;a

ad.:dod;o54, r.eie$ "do6cJ; deagds5o ao&, SogdSo 6oddc.

(2) (r, D (3) 0rr, IV) 1n/ ,rr. rY

sugar transport shorv the

6 i:6.r r( o
5o.:,5n" 65; 5ec-oc eJt'd

6a gSoA ;:"eJd bOofu$ a.5+go adsc rfo0or5od

The correct pair is
aB 60dc5 ae5

(r) (rr, rrr)

40. Study the following lists
List-I List-Il

(l) Nutrient cycle
(lI) Afforestation
(III) Flood protection by mangroves
(lV) Petrocrops

- (V) Recreation

(A) Cuhurai servic
(B) Provisioning services'
(C) Supporting services
(D) Regulating services

6a po6 s.Dec.e5:
4"48"-I

er6gcSc$o JcScoB

tA) i:o(>6g8 5oa:od t$q: (l)
(B) 5d:5:o d:.i> =o5s: (ID
(C) e:q"d QydgS :o$er (ilD
(D) CcSooper."535 {o$o (IV)

'I'he correct match is 
(v)

aa bOdJS #Ao"q)
(A) (B) (c) (D)

(l) (IV.1- ill,) (UI) (l)

16 u{ (rv) (r) tW'
(3) (t\/ n\ (lll) (v)
(4) (V) (ilr) (t) (lv)

as"0s"-II
q:Se o$ea"o Ssc$o-e>
ca iJ5 $dso

e
5ro1r{:-5 o o.go.5d5o Soor) d{co
-o1e5'A::54o:
e: oS6:i2;

5Oho,'J6o

Rough Work

AM 2OI5 D 18S



A
ZOOLOGY

41. Choose the correct statements with reference to reproduction in Paramecium

(A) The micronucleus divides by_ nqilosis and the macronuoleus tv ggr+os'is-

(B) 'fhe micronucleus is polyploid and the macronucleus is diploe("
(C) After karyokinesis the parent cell divides into two daughter cells, anterior proter and

posterior opisthe.

(D) It undergoes transverse binary fission during favourable conditions.
ood5c""r c$;Sc 1f:dc5"5pQB X>oaoQo')S -o0epoo$ d'SPEeSr rlco o'Jc$::

(c)

(D)

(1)

-g

have Barr bodies

6 Ew^a''
in their nuclei ?

)@-rt1"" t"tnr".

(e) 5;-$ 3€ o 15 55.::'o$;CqYe$ o'5o' 5;0 cS:: 5o-o € o 16 5o JEco-i:S o"5o'

DqYa$ Eod,:Sc

(B) $.:-{ 3€ o 15 5 o a'(:-o'6 &e$$.l- Sco cS.:: So'e;€ o 16 do d5cft ?; eC 5.:

&o dc$;
s"od:-BE"oF 6dco'd dOSeoo CqYa$ Eodoo 5s$ 1dri.:5 <{1ro"5o 

"5

qlrlo $co&) $co c$a: e,"o 
*6 {X>o'od E r{o Sco&) ep5c 'os d$oc 5d3c6:o"o::

6a dD ap5cd:.e: {>0"od:oc51K:y6c erd.: 6gQ' D.f19D edcQ;S5cSc

(A). d)-end (Dr (2) dL(c) and (D)

(A), (C) and (D) (a) (A),{B}and (c)

42. In ADA gene therapy, identify the vector used to introduce the functional ADA cDNA into

lymphocyes /(l) pBR 322 
121 

Retrovirus (3) alphalactalbumin (4) ct-l antitrypsin

ADA a5.:5 ,)3.53ef 5 o'Xls-C;65d;'Bo0 $c$.r'e!35 ADA do56 cDNA 5c

Oo{r-oeicr dcA 6>dx-.:do"dc
(1) pBR 322 (2) ELefEdS (3) ero-3-e;-s-ex;So5 (4) c,-1 cU':-oei$3'o35

.) ln which syndrome the somatic cells oI males

)*foo*n" Q\ Twoefi
6 goa b 'ooq6"5:d ""pdc"*rd{Jc,:

6 o CJ- o$.

(1) 6-5J t2l c.:d;63

dx*gm-o €o1ds-oc ts6 dxr'rrs, 5on

t3) Jo"g63

AM 2015 D 19S

(4) E 5-dE6\-p

Rough Work


